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L5.6b More with Inverse Functions
49. The functions are not inverses.

37, yes; g(x) =% — 4, wherex 2 0
50. The functions are inverses.

38. yes: g(x) =x* + 6, where x 2 0
51. The functions are inverses.

x}
39. yes; g(x) = T +5
52. The functions are not inverses.

53. /= (]2 ):; about 31.3 ft

tn

40. no:y= i\"‘x er

54. L=3R+T:64in.

41. noiy= +Vx -2
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42, yes; glx) = \_}I‘x 3 3
55. B
o) =2
43, vyes; g(x) > 1 56. C
30 —4 57. A
2
58. D

44, yes: g(x) =
59. 5;Whenx =5,2x" + 3 =53.

45. yes: g(x) = \/S 2x
60. no; Sample answer: y = (x — 1)%, x = 0 does not have an

x4+ 21
, where x £ 0
inverse function.
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46. yes: g(x) =

47. B



